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[2024-10-29 11:25:36.664] [JET/DEBUG]system control.c:ReadAllReg() (384) :I2cType:1 I2cAddr:0xeB ~ || [2024-10-29 11:27:56.507] [JET/DEBUG]system control.c:ReadAllReg() (884) :I2cType:1 I2cRddr:0xéB
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (895) : [6B] [0] [2024-10-29 11:27:56.985] [JET/DEBUG]system_control.c:ReadAllReg() (895): [6B] [0] Buf[0]:0x1A
[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (895) : [6B] [1] [2024-10-29 7.071] [JET/DEBUG]system_control.c:ReadAllReg() (895):[6B] [1] Buf[0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (895) : [6B] [1] [2024-10-29 7.139] [JET/DEBUG]system_control.c:ReadAllReg() (895):[6B] [1] Buf[l
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (895) : [6B] [3] [2024-10-29 11:27:57.229] [JET/DEBUG]system_control.c:ReadAllReg() (895) : [6B] [3]

[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (895): [6B] [3] Buf[1]:0x46 [2024-10-29 11:27:57.296] [JET/DEBUG] system control.c:ReadAllReg () {895)

[2022-10-29 [JET/DEBUG] system control.c:ReadAl1Reg() (895 |z [68][5] Buf[0]:0x2C [2024-10-29 11:27:57.354] [JET/DEBUG] system control.c:ReadAllReq() (855

[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (395): [6B] [6] Buf[0]:0xl [2024-10-29 11:27:57.469] [JET/DEBUG]system_control.c:ReadAllReq() (895) : [6B] [6] Buf[0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (895) : [6B] [€] [2024-10-29 11:27:57.538] [JET/DEBUG]system_control.c:ReadAllReq() (895) : [6B] [6] Buf[l
[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (895) : [6B] [€] [2024-10-29 11:27:57.€22] [JET/DEBUG]system_control.c:ReadAllReg() (895) : [6B] [8] Buf[0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (895) : [6B] [9] [2024-10-29 2] [JET/DEBUG]system_control.c:ReadAllReg() (895} : [6B] [9] Buf[0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (895) : [6B] [2] [2024-10-29 794] [JET/DEBUG]system_control.c:ReadAllReq() (895) : [6B] [A] Buf[0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (395) : [6B] [B] Buf[0]:0x0 [2024-10-29 11:27:57.884] [JET/DEBUG]system_control.c:ReadAllReq() (895) : [6B] [B] Buf[0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (395) : [6B] [B] Buf[1]:0xDC [2024-10-29 11:27:57.947] [JET/DEBUG]system_control.c:ReadAllReq() (895) : [6B] [B] Buf[l
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (395) : [6B] [D] Buf[0]:0x4B [2024-10-29 11:27:58.036] [JET/DEBUG]system_control.c:ReadAllReq() (895) : [6B] [D] Buf[0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (395) : [6B] [E] Buf[0]:0x3D [2024-10-29 11:27:58.121] [JET/DEBUG]system_control.c:ReadAllReq() (895) : [6B] [E] Buf[0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (395) : [6B] [F] Buf[0]:0xA2 [2024-10-29 11:27:58.209] [JET/DEBUG]system control.c:ReadAllReg() (895) : [6B] [F] Buf[0]:0xAZ
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (895): [68] [10] Buf[0]:0x10 [2024-10-29 11:27:58.294] [JET/DEBUG]system control.c:ReadAllReg() (895) : [6B] [10] Buf [0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (395): [6B] [11] Buf[0]:0x0 [2024-10-29 11:27:58.384] [JET/DEBUG]system_control.c:ReadAllReg() (895): [6B] [11] Buf [0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (395): [6B] [12] Buf[0]:0x0 [2024-10-29 11:27:58.468] [JET/DEBUG] system control.c:ReadAllReg() (895) : [6B] [12] Buf [0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReqg() (895 [Z[6B] [13] Buf[0]:0x2l [2024-10-29 11:27:58.552] [JET/DEBUG] system control.c:ReadAllReq() (895):[6B][13] Buf[0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (895): [6B] [14] Buf[0]:0xAS5 [2024-10-29 11:27:58.€37] [JET/DEBUG]system control.c:ReadAllReg() (895) : [6B] [14] Buf [0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (395): [6B] [1€] Buf[0]:0xCO [2024-10-29 11:27:58.724] [JET/DEBUG]system_control.c:ReadAllReq() (895) : [6B] [L€] Buf[0]:0xCO
[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (395): [6B] [17] Buf[0]:0x7A [2024-10-29 11:27:58.810] [JET/DEBUG]system_control.c:ReadAllReq() (895): [6B] [L7] Buf[0]:0x7A
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (895): [6B] [18] Buf[0]:0x34 [2024-10-29 11:27:58.902] [JET/DEBUG] system control.c:ReadAllReg () (895):[6B][18]

[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (395: [6B] [19] Buf[0]:0x0 [2024-10-29 11:27:58.5985] [JET/DEBUG]system_control.c:ReadAllReg() (895) : [6B] [19]

[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (895|: [6B] [19] Buf[1]:0x32 [2024-10-29 11:27:55.050] [JET/DEBUG]system_control.c:ReadAllReq() {895) : [6B] [19]

[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (395|: [6B] [1B] Buf[0]:0x0 [2024-10-29 11:27:55.138] [JET/DEBUG]system_control.c:ReadAllReq() {895) : [6B] [1B]

[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (895 i [EB111C] Bufi0lz0x0 [2024-10-29 11:27:59,223] [JET/DEBUG]Svstem control. coReadAlIReq () (R9S) s [ERIIC] Buf[01:0x70 |
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (395) : [6B] [1D] Buf[0]:0xl [2024-10-29 11:27:59.309] [JET/DEBUG]system_control.c:ReadAllReg() {895) : [6B] [1D]

[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (895) : [68] [1E] Buf[0]:0xCO [2024-10-29 11:27:59.396] [JET/DEBUG]system_control.c:ReadAllReq() {895) : [6B] [1E]

[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (395) : [6B] [1F] Buf[0]:0x0 [2024-10-29 11:27:59.485] [JET/DEBUG]system_control.c:ReadAllReq() {895) : [6B] [1F]

[2024-10-29 11:25: [JET/DEBUG] system_control.c:ReadAl1Reg() (395) : [6B] [20] Buf[0]:0x0 [2024-10-29 11:27:59.567] [JET/DEBUG]system_control.c:ReadAllReq() {895) : [6B] [20]

[2024-10-29 11:25 [JET/DEBUG] system_control.c:ReadAl1Reg() (395): [6B][21] Buf[0]:0x0 [2024-10-29 11:27:59.653] [JET/DEBUG] system control.c:ReadAllReq() {895):[€B][21]

[2024-10-29 11:2 [JET/DEBUG] system_control.c:ReadAllReg() (395|: [6B] [22] Buf[0]:0xAD [2024-10-29 11:27:55.740] [JET/DEBUG]system_control.c:ReadAllReq() (895) : [6B] [22]

[2024-10-29 11:2 [JET/DEBUG] system_control.c:ReadAllReg() (395): [6B] [23] Buf[0]:0x92 [2024-10-29 825] [JET/DEBUG]system_control.c:ReadAllReg() {895) : [6B] [23]

[2024-10-29 11:25: [JET/DEBUG] system_control.c:ReadAllReg() (895 |: [6B] [24] Buf[0]:0x10 [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg () (895) : [6B] [24] Buf[0]:0x0
[2024-10-29 11:25: [JET/DEBUG] system_control.c:ReadAl1Reg() (895): [6B] [25] Buf[0]:0x10 [2024-10-29 [JET/DEBUG] system_control.c:ReadALIReq () (895) ¢ [€B] [25] Buf [0]:0x10
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (395) : [6B] [26] Buf[0]:0x0 [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReqg () (895) : [6B] [26] Buf[0]:0x0
[2024-10-29 11:25: [JET/DEBUG] system_control.c:ReadAllReg() (395): [6B] [27] Buf[0]:0x0 [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReqg () (895) : [6B] [27] Buf[0]:0x0
[2024-10-29 11:25: [JET/DEBUG] system_control.c:ReadAl1Reg() (895): [6B] [28] Buf[0]:0xFS [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (895) : [€B] [28] Buf[0]:0xF9
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (895) : [6B] [29] Buf[0]:0xD3 [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReqg () (895) : [€B] [29]

[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (395) : [6B] [2A] Buf[0]:0x7F [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReqg () (895) : [€B] [2A]

[2024-10-29 11:25: [JET/DEBUG] system_control.c:ReadAllReg() (395) : [6B] [2B] Buf[0]:0xlF [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg () (895) : [€B] [2B] Buf[0]:0x1F
[2024-10-29 11:25: [JET/DEBUG] system_control.c:ReadAl1Reg() (395) : [6B] [2C] Buf[0]:0xFF [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReqg () (895) : [€B] [2C] Buf[0] :0xFF
[2024-10-29 11:25:40.447] [JET/DEBUG]system control.c:ReadAllReg({) (895): [6B] [2D] Buf([0]:0xFC [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg () (895) : [€B] [2D] Buf[0] :0xFC
[2024-10-29 11:25:40.531] [JET/DEBUG]system control.c:ReadAllReg() (895): [6B] [2E] Buf[0]:0xB8 [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (895) : [€B] [2E] Buf[0]:0xBS
[2024-10-29 11:25:40.613] [JET/DEBUG]system control.c:ReadAllReg() (895): [6B] [2F] Buf[0]:0x0 [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReqg () (895) : [6B] [2F] Buf[0]:0x0
[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (395) : [6B] [30] Buf[0]:0x0 [2024-10-29 [JET/DEBUG] system _control.c:ReadAllReg (] (895) : [€B] [30] 1z
[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (395 [68] [31] Bu [0]:0%0 [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReq (] (595) ¢ [€B] [31]

[2024-10-29 [JET/DEBUG] system_control.c:ReadAl1Reg() (395|: [6B] [31] Buf[1]:0x0 [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReqg () (895) : [€B] [31]

[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (395): [6B] [33] Buf[0]:0xFF [2024-10-29 [JET/DEBUG] system_control.c:ReadAllReqg () (895) : [€B] [33]

[2024-10-29 [JET/DEBUG] system_control.c:ReadAllReg() (895|: [6B] [33] Buf[1]:0xFS v || (2024-10-29 [JET/DEBUG] system_control.c:ReadAllReqg () (895) : [€B] [33]
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Normal mode

Out of ship mode

[JET/DEBUG] system control.c:ReadRAllReg() {895) {[6B] [35] Buf[0]:0x0
[JET/DEBUG] system control.c:ReadRAllReg() {895) {[6B][35] Buf[1]:0xl

[JET/DEBUG] system control.c:ReadAllReg() (395): [6B] [37] Buf[0]:0x0
[JET/DEBUG] system control.c:ReadAllReg() (§95): [6B] [37] Buf[l

[JET/DEBUG] system_control.c:ReadAllReg() (395) ;|
[JET/DEBUG] system_control.c:ReadAllReg() (§95) :|[6B] [39] Buf[l

[JEI/DEBUG] system control.c:ReadAllReg() (895): [6B] [3B] Buf[0

[JET/DEBUG] system_control.c:ReadAllReg() (895) :|[6B] [3B] Buf[l]:0x38
[JET/DEBUG] system_control.c:ReadAllBReg() (893) :|[6B] [3D] Buf[0]:0x2R
[JET/DEBUG] system_control.c:ReadAl11Reg() (895) :|[6B] [3D] Buf[1]:0xBD

[JET/DEBUG] system control.c:ReadRl11Reg() {895) : [6B] [3F] Buf[0]:0x2
[JET/DEBUG] system control.c:ReadAl1Reg() (895) : [6B] [3F] Buf[1]:0x4é&
[JET/DEBUG] system control.c:ReadRllReg() (395} JL41] Buf 0] 0w

[JET/CEBUG] system control.c:ReadRllReg() (895) j[6B] [41] Buf([l]:0x2D

[JET/CEBUG] system control.c:ReadRllReg() {895):[6B] [43] Buf[0]:0x0
[JET/CEBUG] system control.c:ReadRllReg() {895):[6B][43] Buf[l]:0x0
[JET/DEBUG] system control.c:ReadRllReg() {895):[6B] [45] Buf[0]:0x0
[JET/DEBUG] system control.c:ReadRllReg() {895):[6B] [45] Buf[1l]:0x0
[JET/DEBUG] system control.c:ReadRllReg() {895):[6B][47] Buf[0]:0x0
[JET/DEBUG] system control.c:ReadRAllReg() {895): [6B] [48] Buf[0]:0x8

[2024-10-29
[2024-10-29
[2024-10-29
[2024-10-2%

[2024-10-2% [JET/DEBUG] system control.c:ReadRhllReg() (895): [6B] [35] Buf[0]
[2024-10-25 [JET/DEBUG] system control.c:ReadRhllReq() (895):[6B][35] Buffl]
[2024-10-2% [JET/DEBUG] system control.c:ReadAllReg() (895): [6B] [37] Buf[0]:0x0
:0x0 [2024-10-2% [JET/DEBUG] system control.c:ReadAllReg() (895): [6B] [37] Buf[l]:0x0
L [2024-10-2% [JET/DEBUG] system control.c:Real eg g B L. s0xl2
2024-10-29 JEI/DEBUG] system control.c:ReadRllReg() (595) : [6B] [39] Buf[l]:0xD2
IX2R 2024-10-29 JEI/DEBUG] system control.c:ReadRllReg() i Buf[0]:0x2R
2024-10-29 JEI/DEBUG] system control.c:ReadAllReg() (895): TEHT3B Buf[1]:0xF7
[2024-10-29 [JET/DEBUG] system control.c:ReadAllReg() (895):[6B] [3D] Buf[0]:0x2B
[2024-10-29 [JET/DEBUG] system control.c:ReadAllReq() {895): [6B][3D] Buf[l]:0x0
[2024-10-29 [JET/DEBUG] system control.c:ReadRl1Reg() {895): [6B] [3F] Buf[0]:0x2
[2024-10-29 B [JET/DEBUG] system control.c:ReadRl1Reg() (895): [6B] [3F] Buf[1]:0x4é
[2024-10-29 ]]=25- LIET/LF s - 595) - -
[2024-10-29 [JET/DEBUG] system control.c:ReadRllReg() (895): [6B] [41] Buf[l]:0x4d
[2024-10-29 [JET/DEBUG] system control.c:ReadRhllReg() {895): [6B] [43] Buf[0]:0x0
[2024-10-29 [JET/DEBUG] system control.c:ReadRhllReg() {895):[6B] [43] Buf[1]:0x0

[JET/DEBUG] system control.c:ReadRhllReg() {895): [6B] [45] Buf[0]:0x0
[JET/DEBUG] system control.c:ReadRhllReg() {895): [6B] [45] Buf[1]:0x0
[JET/DEBUG] system control.c:ReadRhllReg() {895): [6B] [47] Buf[0]:0x0
[JET/DEBUG] system control.c:ReadRhllReg() {895): [6B] [48] Buf[0]:0x8
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